Geometry Unit 12 Note Sheets 2016

Independent and Dependent Events Notes Sheet
Vocabulary

Compound Event — tWO Or more simple events

Independent Events - tWO events are independent if the outcome of the
first event does not affect the second event

Dependent Event — tWO events are dependent if the outcome of the first

event affects the outcome of the second even
Guided Practice
Determine whether the events are independent or dependent. Explain your reasoning.

1. One coin is tossed, and then a second coin is tossed.
Independent There is no relalionship  befucen Hhe
fink coln toss and Yhwe seeond coin Yoss.

2. Wednesday’s lottery numbers and Saturday’s lottery numbers.
I'\AQCV\A?N\" AfYer wed r\esd‘més lotkery wambers ave drawn the
bolls ace resekr , 5o there is no rel\akionship bekween
Pre drairas
3. Jared selects a shirt from his closet to wear on Monday and then a different shirt to wear on Tuesday.
De,?ev\o\m‘r- The shirk Pt Jaced selects on Mondaq  he i\l net wear on TucsdAJ, se Yhece s g
re\okionship between the shick choices,

Your Turn

4. A card is selected from a Seckdof c\ar(%ifnd not put baclj. Then a second card is selected.
dent. Si Yhe fiesk card se\eetedt s not rekurned, Phen b A\
De?e“ o« Tom;,\?\oose From is diffevenk Sor the seeond Q\\o){cg.m e poss le cards

& This s a common q uestion Lo Ar_\Oev\olch\'\' and\. :AAQPQV\ACV\J( pro bqb‘\(‘r\ﬂ ¥

5. A die is rolled, and then a second die is rolled.

Tndependent. One oll oF o die does ot maltrer for
K second. (ol OF the die. ” o¢ The chances 0% Yhe

Probability of Two Independent Events
The probability that two independent events occur is
the product of the probabilities of each event
Symbols - A and B are Independent Events
P(Aand B) = P(A) - P(B)
Guided Practice

6. Eric and his friends are going to a concert. They put three blue and five yellow slips of paper into a bag.
If a person draws a yellow slip, he or she will ride in the van to the concert. A blue slip means he or she
rides in the car.

Suppose Eric draws a slip. Not liking the outcome, he puts it back and draws a second time. What is
the probability that on each draw his slip is blue?

Since Hhe S\iP .\5

Define

cefwened, Fhis is Plue and Vue) = —«
Lho\e?@d\QV@r. , P(, an “C\) 3 clhance o%
Sb\qe-\'53c\\ow: Eqc ()\c\cif\g

8 Yo xa\ slips blae Ywice
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Your Turn
7. Brad and Rick are going out to lunch. They put 5 green slips of paper and 6 red slips of paper into a
bag. If a person draws a green slip, they will order a hamburger. IF they draw a red slip, they will order
a pizza.
Suppose that Brad draws a slip. Not liking the outcome, he puts it back and draws a second time. What
is the probability that on each draw his slip is green?

Like $he last 53«13“'\’ bred=

%{‘O\D\evv\/ since || Yotel slips

't CQ { XY s the
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\naependent. 1 I czt\\oc\zcs:s :\wo
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Probability of Two Dependent Events
Define The probability that two dependent events both occur is

the product of the probability that the first event occurs
and the probability that the second event occurs after the
first event has already occurred.

Symbols | A and B are Dependent Events

P(Aand B) = P(A) - P(B|A)

Conditional Probability - P (B|A) is the probability that B will occur given

that A has already occurred

Probability Tree - @ WAY Of diagramming dependent events

Guided Practice
8. Using the example with Eric and the concert. Supposed Eric draws a slip and does not put it back. Then

his friend Alec draws a slip. What is the probability that both friends draw a yellow slip?
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Your Turn
9. Using the example with Brad and Rick eating lunch. Suppose Brad draws a slip and does not put it

back. Then Rick draws a slip. What is the probability that both will draw a green slip?
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